
 

 1 2005 

66

 
.  

 14  10  
 50 %,  

, , -
. 

: 
 

-
,  

. 
 204 -

 
 7 (6)  10 ,  

1-7 , -
.  

 
,  

1998-2004 .  
.  

, -
 - 55,9 

%,  - 56,9 
%.  
30,4 %  25,5 %  

,  
 – 10,8 %  12,3 % . 

 59,8 % 
 51,96%   

; -
 -  34,3  %   41,2  %  ;  

 – 5,9 %  6,9 %. 
 

: 97 % - 
, 50,9 % -  

. -
 -  48,5 %, -

,  
. -

 25,5 %  29,9 %  
;  

 – 37,3 %  44,1 % ; -
 – 3,9 %  6,9 %; 

 – 17,6 %  12,3 %;  
 – 5,9 %  3,4 %;  – 7,8 % 

 1,5 %. 
 
 

.  
, , -

, . -
-

. -
,  

. 
-
-

.  
. 

 
 
 

 
  

 
., ., .,  

., ., .,  
., .,  

., . 
, 

 11, 
 

 
: -

-
.  

:  28 
 « »,  14 -

 14 .  
: -

 ( -
 7000 ), , 

-
 6   

. .  
 6,5 ,  

-
 (0,5 

) 2 200 + 10 .  
3  .   

. 
 

15 . ,  
3,5,9  15 -

,  1,0 -
,  1,0 ,  

– ,  
, , , -

. 
: ,  3 

, - , -
.  15  14 -
 5  (  2 ).  8-

 14-  - -
,  

. , -
. 
 

. 
 15  

 1 ,  
.  

.  
.   11-  14,   9- -

,  9-  50%,  
 15-  8 .  15 

 3 . 
 1  9-  

. 
-
 

 80 + 10 .  
 

<0,05)  5+1  .   
. 



 

 1 2005 

67

 St. aureus, 
 1  

 0 - 10-8,  
 1   0  -  10-6. -

,  (E. coli, r. 
vulgaris) . 

: -
-

, -
-

. -
 

: , , 
, -

,  
(5  14). 

-
, -

-
.  

 
-

, -
. 

 
,  

 –  
-

, . 
 
 

  
  

 
., .,  
., . 

3  
. . . , 

 
 

 
-
 

-
-
 

,  -
, , 

, -
. 

.  
, . 

.  163  
 18  44 , -

 30,14±7,0 ,  140 ( -
)  ( -

, -
, 1997 )  23  ( ) 

. -
:  ( ), -

 ( ), , , -
 ( ),  ( 1),  ( 2), -
, , -

 ( ), ,  ( ), , 
4, 3 -

 «DSL» ( ). -
-
-

 ( ),  ( ), t-
, . 

.  I  
,  II  

4,88±1,7  5,79±1,5  ( =0,015).  
 I -

,  - 5,80±3,6  4,12±2,3  
 ( =0,032). -

 
 - 1,29±0,99  0,76±0,47 ( =0,013).  

, 
 2,38±1,8  1,6±0,6 

 ( =0,044). -
 I -

 II  .  1  -
:  

141,0  7672,0 ,  
 - 958,36±925,3  734,69±662,9 

 ( =0,05).  II  
1 :  51,97  2427,0 

. 2  I  
,  II  110,4±72,5  

80,2±17,6  ( =0,049).  
 I  

 II  - 12,7±9,2  24,0±15,9  
<0,001). -

,  -
 18,77±10,3  7,51±2,9  ( <0,001).  

 I -
:  30,72  107,13 ,  

, 
 - 72,49±16,3  17,85±12,5 

 ( <0,001).  II  
: 

 3,59  43,38 . , , F 4, 3 
 I -

 II  ( >0,05). 
-

, -
 – 74,60±14,34  69,20±17,61  

=0,049)  20,41±10,6  16,38±9,1  ( =0,023) 
.  

. -
 

. -
-

 ( 1 2), -
, , , -

, , -
. 

 
 
 
 
 
 
 


